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far a practicable.

<Ife-T 3R B W 3 gy sid quifes Fifde o=
Figures in the right hand margin indicate full marks.
9 U W CECIERCESE S |

This Question Paper dived in three gruap .
Wéﬁwﬁm&ﬁu&mﬁaw—@mmwﬂ?@fl

While answering, the candidate should adhere to the word limit as
far a practicable.
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GROUP (A)
JEIS Uy
ST GUS H H 50 UL & YD B 1 3 MR
( There are Fifty Question Carrying One Marks each )50x1=50

1 9Rdia Rord §6 @7 = @9 g8 ?
(+) 1934
(=) 1835
(71) 1935
(1) 1956
When established of R B1?
(a) 1934
(b) 1835
(c) 1935

(d) 1956

2 UD SR gRT AU YF BT Sellol BT DI Y fhar 2 2
() il

(@) sl



() (@)=
(5) 7 % P T |

To let your son treatment by a Doctor is which type of an !
activity ?

(a) Economic

(b) Uneconomic

(c) Both(a) and (b)
(d) None of these
3 T e d
() fafsera

(@) faevor

() (F)MR ()T

(7) T & IS 78
Money is bartar of ?
(a) Exchange

(b) Distribution

3




(¢) Both (a) and(b)

(d) None of these

4 @ER @7 aftfexror fpde A ¥ fear war g v
() ureifie
SSAERIRE
() T
(&) SuRTeT Tl

How many types of classification of Business ?
(a) primiry
(b) Secondray
(c) Tertiary
(d) All the above
5  9Ra & g av -
(®) 1 ST I 31 fadwR

() 1 el | 31 "

(77) 1 TS A 30 ST
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G EIRE
Finacial year of india 1s
(a) Ist january to 31th Dec
(b) 1st Apri to 31th March
(c) 1st july to 30 june
(d) None of these
4 radr @ afifeer feds AnT # fear T g
(%) urrfis
() fedrae
(1) Fea
(&) SURTRT A
How many types of classification of Business ?
(a) primiry
(b) Se condray

(c) Tertiary
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(d) All the above

5 9Rd T o<y a¥ 28—

(F) 1 ST & 31 =R

(@) 1 et & 31 A

(7)1 g ¥ 30 S
CELEEIERE

Finacial year of india 1s ?
(a) Ist january to 31st Dec \\

(b) 1st Apri to 31st March

(c) 1st july to 30th june

(d) None of these

6 IS SUpd | Ay @ ufshar o IR ®F TS 7

(%) 1991—92

(&) 2001—02

(1) 2004—05

(7) 3% & PIg e

6




When disinvestment process start in public enterprises ?

(a) 1991-92
(b) 2001-02
(c) 2004-05
(d) None of these
7 AISHT ST BT TST b Gl ?
(P) 1 S[elTg 1950
(@) 15 919 1950
(71) 1 31T 1951
() T 3 ®ig &
When constituted of planning commission ?
(a) 1st July 1950
(b) 15th March 1950
(c) 1st April 1951

~ (d) None of these




8 YW AT H Faled yrAfiedr fber < T8 ?

(®) 2

(@) ST

(1) fRrem
(1) uRag Td HaR | |
Which is high priority of first five year plan ?

(a) Agriculture
(b) Industry |
(c) Education ‘
(d) Transport and communication.

9 IS SMRANT /A SMANT BT U Tee] B Bl ¢ |

(@) faw=i

() e

QR ERE]

(%) X




Who is Ex-officio chairman of plannig commission NITI
AAYOG?

- (a) Finance minister
(b) prime minister
(¢) Home minister
(d) Raﬂ minister
10 o 2011 B VAT & JTAR TR B STTHET 2 |
(F) 102.874 TRIS
() 121.019 BRI
(7T) 84.04 TR
() 3 & BIS TE
Cencus 2011 India's population is -
(a) 102.874 croe
(b) 121.019 croe

(c) 84.642 croe

(d) none of these




11 fRER d§ gERaT R B ?

(P) 63.82 %
(&) 53.33 %
(1) 73.33 %
(%) 3 3T PIS
Education rate in Bihar Is ?
(a) 63.82%
(b) 53.33%
(c) 73.33%

(d) None of these

12 faer & ufd 1000 O W a1 &1 HeAm 56—

(@) 940
() 916
(7) 1084

() T 9 DI T

10




Bihar

(a) 940

(b) 916

(c) 1084

(d) None of these

13 9218 A AT B URA g3l 2

(@) 1995
(@) 1996
() 1999
(&) 2001

When start mid-day meal scheme ?
(a) 1995
(b) 1996
(c) 1999

(d) 2001

11

Sex ratio refers to the number of females per 1000 Males in




(%) 2005

(@) 2006
(1) 2007
(=) 2010
When started ' MANREGA' Programme ?
(a) 2005
(b) 2006
(c) 2007
(d) 2010
15 ﬁwﬁﬁﬁméwﬁﬁr&aaﬁwa‘\w%‘?
(%) et
(@) AoxTo MReT
() =1

() & ¥ 21 T
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The following in from the country in which . the mixed economy
18 ?

(a) India
(b) U.S America
(¢) china

(d) none of these

16 facsh UR &7 FaeT 2—

(%) <1 Al & 4"
(@) <1 el & 4=

(1) &1 el @ 4

(&) S 9 PIg T8I

The relation of foreign trade is -

(a) Between two state
(b) Between two districts

(c) Between two countries

(d) None of these

13

/ﬁA i

P\




17 Exim bank &7 qeemery aqferg 8
| () farseh

(@) ge=

(1) =g

CIEGH

Exim bank of head office is located:

(a) Delhi

(b) Patna

(c) Chennai

(d) Mumbai

18 WTO# ey a9 g% ?

() 10 Sa9 1990
() 1 ST 1995
(1) 15 3FRa 2001

(&) 15 31eT 2001
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When establishment of WTO 2
(a) 10 jan 1990
(b) 1 Jan 1995
(c) 15 Aug 2001
(d) 15 April 2001

19 9RT &1 Sy S & ?

(®) Rord 9@ sifw sfean
CIESEENERED
(1) ¥ 9% &ifp sfear
(%) S5t 9 &ife 3

Central Bank of india is ?
(a) Resérve bank of india
(b) Punjab national bank
(c) State bank of india

(d) Central bank of india

15
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20 Wﬂﬁwmaﬁ??ﬁﬂmmaﬁ_aﬁﬁ%?

(P) =& e

(%) g g

(1) Rirp

(%) STfaer e

Central bank curreney issued that is ?

(a) Trend currency

(b) Credit money
(c) Coins
(d) All the above

21 159 &5 B giae & Pt o @ 2

() Y &=

(@) arEfire e
() war &

() &7 & @18 7
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What is the teartiry sector is called ?

(a) Agriculture sector
(b) Industrial sectors
(¢) Service sector

(d) Non of these

22 TIREdl deadi AT @) orafy @y @ 2
(®) 2008—2013
(@) 2006—2011
(7T) 2007—2012
(&) 2009—2014
What is the period of eleventh five year plan ?
(a) 2008-2013
(b) 2006-2011
(c) 2007-2012

(d) 2009-2014
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23 IR H T AN BT WY B g |

(‘cB) 1950
() 1951
(1) 2010
(%) 2015
When NITT AAYOG established in india ?

(a) 1950 |
(b) 1951
(c) 2010
(d) 2015

24 B B goal A1 RS ferar 8, S dEd § ?
(@) =g
() 3
() i
(%) 9 | BIS T
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L. 0 0 — - i
— 7 : ; _— .
; 2 = = = ‘% —==)

Work is return for which remuneration is called :-
(a) Expenditure
(b) Income
(c) Capital
(d) None of these
25 18R & 19 fSrel @ ufd afed oma waife 2 ?
(P) g
(@) Ry
() HTTeTgR
(&) s
Which district of per eapita is highest in Bihar ?
(a) Patna
(b) Siwan
(c) Bhaglpur

(d) Darbhanga

19 , )
A
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26 wRa ¥ e 19T o Uy Al om waitie § 7
(@) BRATT

() averTe

()

(=) el

Which state of per capita income is highest in india ?

(a) Hartyana
(b) Chandigrah
(c) Goa
(d) Delhi

27 waare iR s o R anfie gfedr @ 2
(P) WX
(@) d=mfd
(77) =asIR®

(57) Sugad Fl

20




Production and income calculation method ecomomic view
1s from :-

(a) Simple
(b) Sentific
(c) Practical
(d) All the above

28 ford <91 &1 T Sy 3 BT € 98 < HEedr ¥ ?
() srfdepiad
(@) fawiaa
(1) srg faspRma
() 379 | =

The country income is greater it is called.

(a) Undeveloped
(b) Developed
(c) Under Developed

(d) All the above

21




29 T $ER BT AE © b BET B
(®) s '
() T

(TT) Yo e |

(H) o T

Who says “ poverty is like cancer disease” ?
(a) Cugnet
(b) Maddison
(¢) Prof. Amrtay sen
(d) Prof. Marshal

30 A.T.M®1 312t 8 —

() Taanferd ToR 7
() anfera <t w=ie
(1) TR S e

(@) s & |

22
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Meaning of A. T.M. Is ? |
(a) Automatic teller machine
(b) Automatic talking machine

(¢) Automatic teking machine

(d) All the above

31 a1 98 ¢ © s 9y 8k awpet e s gawme el
7" fa @er ?

() fo=

() o et

(°T) 9y

(%) T & P T

Money is a pivot around which the whole economy clus-
ters” who said it ?

(a) Keynes
(b) Prof. marshall
(¢) Pigu

(d) None of these
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32 U ®W &1 e SN fhar o @ ?
(F) DT TRBR gRT
(=) Red 9% sife sfear grr
(1) ¥ 9% ofip sfear grn
(&) 379 1 IS 7

One rupee note is issued :-

(a) By central Government
(b)R.B. 1
(c) State Bank of India
(d) None of these

33 g @ ey g —

(?) & |

(@) =7 |

() & 3R @ T

(%) fowarg 9

24
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Relation of credit is ?

(a) Poverty
(b)‘Debt
(c) a and b Both

(d) Believe

34 SUHIFT ARBR ¥ b9 TR ST & ?
() 15 w7
(@) 1 3
(1) 17 A
(1) 1 e

When celebrate consumer protection day ?

() 15 March
(b) 1 April
(c) 17 March

(d) 1 July

25
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35 Wwﬁwéwwww%?
(@) 108
() 200—11,4000
(3T) 1800—11—4000
(&) 1000—100

What is national consumer help line number ?

(a) 108

(b) 200-11,4000

%? (c) 1800-11-4000
(d) 1000-100

36 ST W DI IEICET HEE T &
(%) e

(@) S

(1) s

(d) orer

- 26




Following are not multinatibnal company ?

(a) Nokia
(b) Samsung
(c) Oppo
(d) Parle

37 d%EERY & HReg fha ofT & ?
() v

| (@) <1

‘ (M) <=

(&) AR

How many main part of globalization.

(a) One

(b) Two
(c) Three

(d) Four

27
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38 f98R & Iog g
() BT gerr

(@) TUTe Yerm=
(1) BETT eI
(&) |t
Bihar is a state:-
(a) Agricultre intensive

(b) Animal husbandry intensive

(c) Industrial intensive

(d) All the above
39 @ s 5T 6§

() faer
(T) IR wT
(77) 7 g9

(%) SIRETS
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- Who is not 'BIMARU' state ?
(a) Bihar
[(b) U~P
(c) Madhya Pradhesh

(d) Jharkhand-

40 9Rd ¥ fba TG 6 8 ?
(P) 14
(™) 19
() 20
(=) 21
How many nationalished Bank in india ?
(a) 14
(b) 19
(c) 20

(d) 21

29



41 %%bv@ﬁ?ﬁﬂméﬁwﬂmw giar & ?
(P) FEBRT d&F gRT
(b) B 9@ R
(1) efire 9% grT

(&) 91T §& gIRT

Banking and finacial Activities are conduct :-
(a) By cooprative Bank
(b) By central Bank
(c) Industrial Bank
(d) By commercial Bank
42 Ea—cmreﬁzﬁ D1 BT ARG He T 14T ?
(P) 1969
(™) 1990
(1) 1971

(d) 1991

30




When nationalisation of commercial Bank ?
(a) 1669
(b) 1970
(c) 1971
(d) 1991
43 'SEZ &1 qr aH 8 ?
‘ (B GE|
(@) A=y MR &
(1) faery e fefen &

(&) 3¢ & wh

Full name of 'SE Z'is ?
| (a) Special economic zone
(b) Special AADHAR zone

(c) Special Uneconomic zone

(d) All the above

31




A4 wRE A TS anfde T @ o B9 B Mg 0

() 1990
() 1991
(1) 1992

(¥1) 2001

| When Announced New economic policy in india ?
(a) 1990
(b) 1991
(c) 1992

(d) 2001

45 WRa F STHEET Sicier fafad wU W B9 9§ ga o ?
(%) 1960 & TID A

(@) 1970 & AP A
| (1) 1980 & TP A

(%) 1990 & SID A

0 |
/%(
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When consumer movement duly started walking felt in
india.

(a) From 1960 decade
(b) From 1970 decade
(c) From 1980 decade

(d) From 1990 decade

46  9RA H SUNIGIT WRET BT He §T ?
(@) 1986
(&) 1988
(1) 1991
(¥1) 1996
When consumer protection Act make~ in india ?
(a) 1986
(b) 1988
(c) 1991

(d) 1996

33
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47 et Hafg Aafg & ?
(P) oD gRe W
(@) aRATTHS gRe< 3y
(M) ® 3R & <A &

(&) $7H ¢ @lg &

Economic Growth is Related ?
(a) Change in Qualitative
(b) Quanlitative
(c) aand b Both

(d) None of these

48 WWW@EEEE@THQM[W\MSM%?

(®) fowriir Sumpy

(@) e /Aot A o
(7T) TRBRT Hr
(@) T R

34



Indian Railway is which type of example of publie enter-

prises
(a) Departmental
f‘ (b) Statutory Public corporation

i (c) Government company

(d) None of these
(| 49 Pl g9 FH EIT §
G ECCEIR]

(@) T AN

WEXINE!
(=) &4t

Source of Black Money is ?
(a) llegal Income
(b) Tax evasion
(c) Commission

(d) All

35
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50 e 5 & —

(aﬁ)é?mﬁaﬁr
(@) Pretl FaT
(77) IR &

(T) 377 & IS T |

Black Money is-
(a) Illegal wealth
! (b) Black currency
(¢c) Enormou wealth

(d) None of these

36
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Non - objective Question

GROUP (B)

ST @US H @l 22 U § UAD B 2 3 FEIRT ©
T I® Dael 15 YT & IR Sffard B |

Thereaﬁzaventy two Question carrying two marks each.
Answer Any 15 Question only.

= 7 & 5= 15 Ul & SR < |

fAf3rT sreferasen foy wed § 7 (15x2=30)
What is ment by mixed economy ?

3nfdfes AT | Mg a1 |HeId © 7

What do you ment by economic planning ?

IRT # M & T Sl BT ford |

Write the main objective of economic planning in india.

STINT IS I 3T T qHeT & 2

What do you ment by rolling plan ?

37 8



10

11

12

foT S/guTa | 3y T TS § ?
What do you men by gender ratio ?
Rl NG IS T & 7

What is Gross Domestic product ?
STRIAT ©5Ted W 319 FRIT AT © |
What do you mant by. population denecity ?
SUHTERIT TR 4T & 7

What is consumer awareness ?
TeTErg, Ufernfiar @ar 7 ?

What is throtcut compition ?

I SMART & 31y R s § P

What do you mean by NITI AAYOG ?

SERTSIT BT 3 Y FT 9 © |
What is ment by multinational companies ?

SRIGITRT T & 2

38



13

14

15

16

17

18

19

Whet is unemployment ?

IRE ¥ B oS & @ SR ?

What is the reason of Aguriculture backwardness in india ?

HITET WIS ol T & ?

What is mid day meal scheme ?
HARAT BRIHH FT 7 ?

What is MNREGA programe ?
AT RIS @7 /2

What 1s seasonal unemployment ?
EYOIHS SRIGHTRT T 8 2

What is Fricitional unemployment ?
qaT I a1 § ?

What is money Inflation ?
HEDHNAT AT T 3T & 7

What do you mean by cooperatives ?

39




20 JIABROT W MY T FHSA & 7

What do you mean by Globalisation ?

2] FREfd—arTd 9% oY @1 |qHsy 27
What do you mean by Export-import (EXIM BANK)

22 faceh g e 7 @ 2

What is foreign exchange rate ?

40




GROUP (C)
LONG ANSWER TYPE QUESTION

T U8 H Gl 04 U & UADG B 05 b ERT 2 | udF uzH
3T WHD fddHed BT IR 150 TRt # < |

There are 4 Question Carrying 5 Marks each. Answer each
Question or alternative of it 150 words .
(4x5=20)

ST SUhd, ATeST G SUHA Td WY U H 3R ) |

Difrence between private enterprises, publc enterprises and
Joint venture

arerar / OR
TENTSI HFIT STHIATRIT BT INYIT DY el & ? SRT By .

Multinational companies counsumer's exploiting how ?
expalin.

IATRAD dDH1 & YT BRI &) fAdemT o |

Explain the function of commercial bank ?

a1 / OR

SUHIFIT & DIF—hI DR 2 ? ISERV AfRd ARAT BV |




3 ORI B XTI N AT AT G & | 5 ey wry
qfeT T 2|

What do you meant by structure of economey ? How many
part divided it ?

a1erar / OR

AT W TUET & PIF—bl I AT 2 ?

what is resources of production in economics ?

4 ST Sy B AR < | T S Y TOT Y B oy & 2

Difine national Income. How the national Income measured ?
31erar / OR

faer # anfidfes fvguT &1 w1 HROT 2

What are the reasons behind economic backwardness 1n
Bihar ?




ANSWER SHEET (OBJECTIVE)

ECB-ECONOMICS (OPT)

vRoe favg — aefareg

(SECONDRY)
Que No Ans Que No Ans Que No Ans
1 C/ 21 C/ 41 |D/ ¥
2 B/ & 22 C/ 42 (A @
3 C/ 23 D/ = 43 | A/ &
4 D/ ¥ 24 B/ @ 44 |B/ =
5 B/ & 25 A/l & 45 |B/ @
6 Al & 26 C/ T 46 | A/ &
7 B/ &= 27 D/ = 47 | B/ @
8 A/l & 28 B/ = 48 |A/ &
9 B/ = 29 A/l & 49 | D/ =
10 | B/ = 30 Al & 50 |A/ &
11 A/ & 31 B/ @
12 | B/ <= 32 Al &
13 A/ & 33 D/ =1
14 | B/ «= 34 A/
15 |A/ =& 35 C/
16 (C/ =1 36 D/ ¥
17 | D/ = 37 D/ =
18 | B/ = 38 Al &
19 |A/ & 39 D/ ¥
20 | A/ & 40 B/ @




